[image: image1.png]() Complete the computation. Do not use minus signs or brackets to show negative figures.
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CBT Sample assessment model answers

Business Tax (BTAX) FA2014
Sample assessment 1

Task 1 (12 marks)
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[image: image2.png](b) For each of the following items, pick the correct treatment in relation to the computation of the taxable profit.
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Task 2 (14 marks)
	[image: image3.png]Calculate the capital allowances for the period ended 30 September 2014 and the final period ended 31 March 2015.

[Period ended 30 September 2014 General Pool £]  Carpool £ Allow ]
Brwa 278520 24800
INon 414 addtions 20300
208,820
[aia agations:
Prant 306,800
Lony 35,600
342,400
i
l£250,000 x 3112
le500,000 x 6112 312,500 20900 312,500
328720 24800
[wDa 18% x 9112 44,377 44,377
[WDA 8% x 9112 1488 1488
284,343 23312 358,365
[Period ended 31 March 2015
[sales proceeds /value 297,400 19,800
[Balancing allowance 3512 3512
Balancing charge 13,087 (13,07)|
(©545)]







Task 3 (12 marks)
[image: image4.png]Calculate the taxable profits and state the tax year and basis period for the first three tax years of
trading. Complete the dates for the basis period by selecting a day from each calendar window and
entering the year in the format YYYY (e.g. 2013) n the adjoining box.

Firstyear 2012, [13 iDec 7] 2012 |- Sar 5] 2013 29000

‘Second year 2013 [14 TDec 7] 2012 |- oNov TF] 2013 95250

“Third year 2012 ), [15 T F] 2013 |- 30Jun F] 2014 106800





Task 4 (12 marks)
[image: image5.png](a) State the amount taken into account in each of the following accounting periods.
Ifyour answer is zero, enter 0.

First accounting ond accounting
d

Capital gains

Trading profits

(b) Tick the correct box to show whether the following statement s true o false.

True

‘Taxable total profits includes al dividends received from other companes.





[image: image6.png](€) Calculate the marginal relief that would apply. Round your answer to the nearest pound if appropriate.

Marginal relief for Financial Year 2014

180000

1400 x [_sooo00] - [ 192000] x —— = 722]
192000





Task 5 (4 marks)
[image: image7.png]Calculate the Class 4 National Insurance Contributions for both Jonathan and Charlotte for 2014/15.
‘Your answer should be to the nearest penny. If your answer is zero, enter 0.

Jonathan 1470.98 0

Charlotte 305181 32390





Task 6 (6 marks)
[image: image8.png]Enter the relevant amounts in the box below to show how Daffodil Ltd would claim for their trading loss.
If your answer is zero, enter 0.

How much trading loss relief can be claimed againstincome in the 7300
year ended 31 January 20157

‘How much trading loss relief can be claimed againstincome in the w700
year ended 31 January 20147

How much trading loss relief can be carried forward to the year 25400
ended 31 January 20167

‘How much gif aid can be carried forward to the year ended 0
31January 20167

"How much capital 10ss can be carried forward1o the year ended 3
31 January 20167





Task 7 (10 marks)
[image: image9.png]In the box below you need to respond to Jolene's query by explaining:
(a) the amount and date of each payment Jolene needs to make for the calendar year of 2014
(b) the penalties andior interest that she would incur if she was late in paying her tax on the due dates.

[31 January 2014- (28,600 — 22,450) + (28,60072) = £20,450
[31.July 2014 - 28,6002 = £14,300

Penaties ana interest:

Interest s payable on all ate payments. The interestis charged from the due date of payment to the actual
date of payment.

[Penaties are also due on late balancing payments. This is equal to 5% of the tax not paid i late by 30 days
[Two further penaties are imposed at 5% each for tax remaining unpaid & months and 12 months after the.
aue date.





Task 8 (6 marks)
[image: image10.png]Complete the relevant boxes on the following return for each of the above.

Tax calculation

38

39 Number of associated companies in this period 9 gl
or

40 Associated companies in the first financial year 0 ‘

41 Associated companies in the second financial year

42 put an X' in box 42 if the company claims to be charged at the starting rate o the
small companies’ rate on any part of ts profits, or is claiming marginal rate relief

Enter how much profit has to be charged and at what rate of tax
Financial year (yyy) ~ Amount of profit Rate of tax Tax
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Task 9 (8 marks)
[image: image11.png](a) Calculate the chargeable gain on the disposal of this asset. Do not use brackets or minus signs.
Your answer should be given in whole pounds.

Indexation allowance on cost 24621

Costofimprovement

(b) Tick to show if the following statements are true or false.

(Capital gains taxis not payable by limited companies.

‘The giftof an asset is nottreated as a chargeable disposal.





Task 10 (10 marks)
[image: image12.png]Whatis the chargeable gain or loss for 2014115 on the disposal of these shares?
Clearly show the balance of shares to be carried forward.

No of Shares Coste|
anuary 2000 Purchase 6,000 77,800
ouiy 2003 Bonus issue 1500 o
7500 77,800
IDecember 2004 Disposal (3.000)| (31,120)|
4500 46,680
INoveber 2007 Rights issue 450 2475
4950 49,155
|october 2014 Disposal (4,000)| (39.721)|
950 9,434

Proceeds 57,400

Cost 39721

Gain 17,879





Task 11 (6 marks)
[image: image13.png]‘Show the amount of capital gain that would be chargeable under each of the two rates of capital gains
tax (CGT). f your answer is zero, enter 0.

Other income
®
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